Efficiency vs P,

0.02 ; .
2 : :
9.018 : : :
> . . .
&.016 : : :
0] : : :
£.014 :
0] .
0.012F-- -t :

0.0 : : :
0.008 f : :
0.006 + : ; :
0.004 ; : :
0.002 ++ : : :

T BT TR TETTT R AT

o J..\.G L
8 F
m 1_—0—04> oo R R
095 F- - f{-i--mmmmemm e
0.9k

1 10 . Gedf’

=
o
iN

—=#— DQM_CKF_XiMinusNOPU_base

—— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epoch4

=0.05
[
§.045
2
$0.04
[S]
$.035
o
0.03
0.025
0.02
0.015
0.0
0.005

wlllll‘Tlllllllll LB
= |
> 4
| B—— H N -
> 4

1.4
12

Ratio

0.8

Efficiency vs ¢

o0.02




	Contents
	Page 1


